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| il & fog wmr g
'~ GENERAL INSTRUCTIONS TO THE EXAMINEES:

(1) slieneff gewem 39 T9H-93 W L‘; ) fod |

Candidate must ? ' hll Number on the question paper.

(2) wfiuw

All the questions are compulSory.

(3) mmwwaﬁmﬂﬁﬂwﬁﬁ%@ l
Write the answer of each question in the answer sheet only. |
(4) Fom et § srreafies wus §, 39 @ 3 I s oY @ o |

] For question having more than one part. the answers to those parts are to be written

together in continuity.

(5) mmm%@ﬁﬁqﬁwwmm%@ l

Write down the serial number of the question before attempting it.
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(6) Ww%%aaaﬁsﬁwﬁ%&ﬁmﬁzﬁ/m/ﬁﬁm@%m%a mm%ﬁm:i

1 & TE O |

If there is any kind of error/difference/contradictior in the Hindi a
- the question paper, the question of Hindi version should he treated

SR C L |
; SECTION -
Fgahicus T
Multiple Choice Questions.

1. :ﬁ%ﬁaqﬁm%mmaﬁﬁmmmm-mﬁgm

nd English version of

Select the correct answer for the questions g“' elgiana
. % : @?ﬂd write it in the answer book :

s andardisatig,

(D) Method Study

(i) ewH=T sl & g A & -

(31) (W) =m
@) @ (@) uig
Main sources of recruitment of worker — |
(A) Three | . (B) Four
€ Two D) Five
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(i) FreTm &t wew 5 T R ST B @ |

(31) 3= | (@) 7=

@ = () e
Direction is required at the _ level of management.
(A) Top (B) Middle

(C) Lower (D) Every

(iv) S (i) faret Y arfrpam sraft g -

(31) Qad ) q'c};‘crﬁf
(|) d=ad (8) TREN
(B) One yeatks’ §)

(C) Three years

- Maximum tenure of treasury bill is — ﬂ
S\

(D) Four years

(v) ST Rl ) Frer @ srre G =

(31) T il
(W) Q=g
(¥) =
(?) Bi=ta

There are machinery for settlement of consumer disputes —
(A) One tier . (B) Two tier

(C) Four tier (D) Three tier
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(vi) m?-—-'
(31) e (@) Fem
(@) e 3 fasm gt @ A,
Management IS - |
(A) Art  (B) Science | #
(C) Both Art & Science (D)' Neither Art, nor Science
(vii) ﬁﬁaéﬁ_ﬁm% | | |
(31) =¥ (@)
(@) @ bt

Helpful in decision making is '_‘ 3

(A) Object

(C) Programme

Henri Fayol w ';1

| ‘ (A) Accouma:j :-‘ :
| (C) Productio '--.ﬁ‘gi-ne

(B) Mining engineer

b (D) Manager
(ix) T o s ot € -
ql (31) & (@) =
(|) U= (®) =m
Main elements of direction are —
(A) Two : (B) Three
(C) Five (D) Four
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(x) O, QAT e 31 s verd frae gow B, faed wem § fshl % fore e e

Sl 2, R & —
(31) femmom (%) FRf
< , . -
() I () =afewma fora
Goods, services or anything of value, which is offered to the market for sale is
called -
(A) Advertisement (B) Packaging
(C) Product (D) Personal sale

(xi) “TeI e (uﬁmwﬁs)%m@mmmzﬁa(mwﬁﬁ) T TWH W
B =TT et aref 2 — =
(31) =yaweq

(9) gar

“A place for everything (every one) and-everything (every one)is its place” that -

means —
(A) Order | &7 (B) Planning
(C) Equity - (D) Division of work
(xii) T TR 7 wory wew & —
(3) Yueh (€) e
) Hew yTHehdl (8) wha-gfe

The first element of communication process —

(A) Sender (B) Media

(C) Receiver (D) Feedback
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2. o w6 of ) gu SR -gfe A e

" Fill in the blanks and write in the answer book.

(i) et & areed s H 5O THEC AU T H AN YR |

Noise means some obstruction or hindrance of effective .
(i) SOMRET B! g SO FAATRATH _ F@I g |

The consumer is calledthe  in a free market economy.
(iii) Tagra = = fog FHIHA B E |

The principlesare _ to action.

(iv) T+2a'|éﬁ=r,§mw@mﬁ
On the T+2 day, the exchange will delwer '

broker. ‘—1: ) &

) PrmmTEEE wER A
Planning isagmme.. function of manag&m‘éﬁt

(vi) T wmﬁmma;gmm{q;ﬁ Q|
Employees are ({0 1mp£vc thélr performance

Very Short Answer Type é&s'tmns
3. T Al % ST U ufed H R
Answer the following questions in one line :
(i) N.S.E. Q0 A8 18 ?
What is the full name of N.S.E. ?
(i) “Uefi i R ?
What is the “Penny Stocks” ?
(iti) Terehsiaron 1 3ref wrame |
Mention the meaning of decentralization.
(iv) Ti=a & “ufspan” s wn o @ 2
What is the meaning of “Process” in planning ?
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(v) 3% T i gfvem fafy & s 8 gt o wweme )

Explain the *film’ in off the job method of Lraining;
(vi) 3= T S HT A BTe AT |

Mention bésic function of top level management.
(vii) “hfeIee TrIeR” w1 aref R 7

What is the meaning of “Caveat emptor” ?
(viii) I T F 3179 ey e E 2

What do you understand by “Time study” ?

() TR o e e R 1 3 2

“Marketing is a social process.” How 2., [

(%) aﬂﬁmm%w e Ry ol TR E 7

_‘:n@@%mnﬂﬁc management ?

What do you mean'by;the term ‘Lean m ?&

s ,-

Explain the *feedbaek*in commuricationprocess.

(xii) ST O aifiren <6 foffirer ofSiy o TRt B foT fererenT Sl R 7

What did Taylor use to identify the different postures of a worker ?

Qg -
SECTION -B
TS T | THE. 4 H 16 9% TIh q) HH HI12 |
Short answer type questions. Question Nos. 4 to 16 are of two marks cach. 2
i % JaR 1 wE Hifv | '
Explain the management of operation.

w7l < STel Bdl o <13 Q1 o1y Farsy |

Mention any two merits of external sources of recruitment.
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10.

11.

12.

8
TR 39T Tl <1 e fpa yr e € 7

How does the Government protect consumer interests ?

e § 3R 991 U B ?

What do you mean by management ?

Yoft STSIR Ta g1 IR H “37a” 3 391 W ara Hifg |

Differentiate between capital market and money market on the basis of “Duration™

i s e 5 i e it 5 o o < v s

Explain the role of State Commission as a dlspute redressal agcncy under Consumer

L

Protechon Act.

T, S5, TR §RT NiaHifea wrfies shife i guzisa

Explain the mental revolution propounded by F /WL Taylor:
| gi‘?s

i 3 “wsher T AeET | emﬁgzn msa% &t

What do you understand bf ‘gglglﬂ use planning™in planning ?

“.ef

mﬁ%mwﬁmmmﬁmﬁm@g?wm@ﬁmm%l..

Why the Consumer Protection Act is important for consumers 9 Explain any two point
‘ S

SiTteren T & Frm @ o = 7 weRiT Hifv -

(i) el 2gen

(i) T/ STheE

Show the following network of grapevine communication with the help of the Chary :
(i) Single strand

(ii) Gossip
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14.

16.

!

.

18,

19,

$S-31-Bus, Studies

' 9
e ST 35 3T S AR o €, e

The employees who work under the production officer, are called

ﬁﬁﬁﬁm%am%mﬁm{ﬁ@mﬂmwaﬁﬁﬁémmﬁhﬁﬁqu

Show supply and commercial services as a classification of industrial product with the

help of the Chart.

o7 3 STer Sl i HAT e |

; 3 j itment.
State the limitations of external sources of recruitm

3x4=12"

w%mﬁ?ﬁqﬁﬁﬁaﬂﬁql
s,ofSEB_’L

. 7 'Vc'
Mention any three object!

awﬁﬁmﬂﬁﬁ@ﬁaﬁfﬁ%ﬂ?mﬁm|
3Tk g & SRET

{ training and development to the
: three penefits 0
Jain any

. EXP
In your point of views

employees.

%mmamasﬂﬁ% 7 10T T |

“Wm%%ﬁﬁﬁm

_ Do you agree ? Give reasons.
" mana
ce Of

gemcnt"
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20. 3T i 3, Frvrs 1 Rl i ol ) g |

In your view, explain any three limitations of planning.

g -¢

SECTION - D
Y T 21 § 23 T TSGR IF H1 8 |

Question Nos. 21 to 23 are of four marks each. _ 4x3=12

21.

22. TR i fatwanati ot wwmsT |
Explain the chal-'acteristics of directing.
AYET/OR
guTelt TR ) sftTa STenat S aHsET |
Explain the personal barriers of effective communication.
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11 :
93 7Rt T A, SufEie Rishg & T 1 8 dTel fehedl I ST i ST |
| In your opinion, explain any..four benefits of per_sonﬂelling to the society.
37¥ar/OR ;.%’*@
T S J

= omehi T, R AR i s e |

In your oi;inion explai any four differences between advertising and personal selling.
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